BASIC FORMULAS AND FORMING EQUATIONS
1.
A bag contains x sweets.


How many sweets are there in 5 bags ?

2.
A box contains x calculators.


How many calculators are there in 10 boxes ?

3.
A box contains y tee-shirts.


How many tee-shirts are there in 8 boxes ?

4.
Bags of sweets each contain x sweets.  If 2 sweets are removed from the bag, 


a) 
how many sweets are there now in a single bag ?

b) 
how many sweets are there now in 5 such bags ?

5.
Bags of sweets each contain x sweets.  If 3 sweets are added to the bag, 

a) 
how many sweets are there now in a single bag ?

b) 
how many sweets are there now in 5 such bags ?

6.
Bags of marbles each contain x marbles.  If 5 marbles are added to the bag, 

a) 
how many marbles are there now in a single bag ?

b) 
how many marbles are there now in 10 such bags ?

7.
A teacher has 5 bags of marbles and 3 extra marbles.  Each bag has n marbles inside.
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She asks:  ‘How many marbles are there altogether?’


The pupils say:




Nia





Vijay






Sam




Jo





Karen





Glyn


a) 
Name one pupil who is right.


b) 
Name another pupil who is right.

c) 
If there are 38 marbles altogether, find the value of n.

8.
For the following questions, find the ‘mystery’ number by forming and solving an 
equation.


a) 
If I multiply the number by 5 and then add 3,  the answer is 23.


b)
If I multiply the number by 4 and then subtract 7,  the answer is 25.


c)
If I add 3 to the number and then multiply the result by 10, the answer is 50.


d)
If I subtract 5 from the number and then multiply the result by 3, the answer 
is 30.

e)
If I multiply the number by 4 and then add 1, I get the same answer as when I multiply the number by 2 and then add 13.


f)
If I multiply the number by 6 and then subtract 5, I get the same answer as 
when I multiply the number by 3 and then add 16.


g)
If I multiply the number by 3 and then add 5, I get the same answer as when I 
multiply the number by 7 and then subtract 11.


h)
If I multiply the number by 2 and then add 25, I get the same answer as when I 
multiply the number by 5 and then add 10.

i)
If I add 5 to the number and then multiply the result by 3, I get the same answer as when I multiply the number by 2 and then add 18.

j)
If I subtract 1 from the number and then multiply the result by 5, I get the same answer as when I multiply the number by 3 and then add 11.

9.
The following rectangle has width x cm and length  (x + 2) cm.



a) 
Write an expression, involving x, for the perimeter of the rectangle.


b) 
Given that the perimeter of the rectangle is 32 cm, write down an equation and 

solve it to find the value of x.

10.
The following rectangle has length x cm and width  (x ( 5) cm.



a) 
Write an expression, involving x, for the perimeter of the rectangle.


b) 
Given that the perimeter of the rectangle is 18 cm, write down an equation and 

solve it to find the value of x.

ANSWERS.
1. 
5x.

2. 
10x.

3. 
8y.

4. 
a) 
x ( 2  

b) 
5(x ( 2) or 5x ( 10.

5. 
a) 
x + 3  

b) 
5(x + 3) or 5x + 15.

6.
a)
x + 5

b)
10(x + 5) or 10x + 50.

7. 
a) and b) Vijay and Karen  

c) 
n = 7.

8.
a) 
5x + 3 = 23.


Mystery number = 4.


b) 
4x ( 7 = 25.


Mystery number = 8.


c) 
10(x + 3) = 50.


Mystery number = 2.


d) 
3(x ( 5) = 30.


Mystery number = 15.


e) 
4x + 1 = 2x + 13.

Mystery number = 6.


f) 
6x ( 5 = 3x + 16.

Mystery number = 7.


g) 
3x + 5 = 7x ( 11.

Mystery number = 4.


h) 
2x + 25 = 5x + 10.

Mystery number = 5.


i) 
3(x + 5) = 2x + 18.

Mystery number = 3.


j) 
5(x ( 1) = 3x + 11.

Mystery number = 8.

9.
a) 
4x + 4.


b) 
4x + 4 = 32.

x = 7.

10.
a) 
4x ( 10.


b) 
4x ( 10 = 18.

x = 7.
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